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|z-1]=lz-|2{+|2|- 1]
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Bl lz-1i<l| 2| 1] +|d]argz|.
MILHJ:E WEL-Tlz2~1[FE R A28 E,lz]- 1| F R 4B
K (OB K =12],04 K= 1),

iz |largz &R 3K Bz ¥, BRE
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b i K <Bz MK, B—E F Az<
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(DEHRPERE 2ZBEBBKFE2?0HIEERR BEn
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+isind) By IE5EK n IR s
z"=r*(cosnf + isinnf) (18)
ALY r=1 53,
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XEL R E LK EEH(De Moxvre)/\ﬁ
BEEN 2°=1,z7' == (z=#0) W (18) X T n B K
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EHE X2V GXE n>2 EEN) £ 28 n ik B 1 3 B
B, 02" BTHE w =z MER® (RwIFkH 28 n KHiE
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BN FE— pax0,w=2""= 24 n AR EIAE.
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z=r(cosf +isinf), w= p(cosp +isingp),
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3
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XEY 20 1 n MEFTH V™), f2, 28R BRI e 2: , 4: :
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Q) EREH x+iy S5x-iy EHRILIWER, 20LEE
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(2)=2,

212, = Z,2,,

Rez = 2tz
2

lz)t= 2z,

21_'t22=21i22,
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2
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Z=x+ip

ut

- ......__X

Z=x—jy

A 1-9

(2,#0),
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COS—-+1 S1n—;-

Air A 1+1 = 4 LE cos=+1isin-T,
1-1 cos—~ — | sin—— 2 2
4 4

41 141V T . . nw\" nw nm
Al — | ={cos—+isin—) =cos— +1i sin—~
= 1-i 2 2 2 2’

i

(cos2km + isin2kn = 1, n=4k

cos(2k+-§-)n+isin(2k+—;—)n:=i, n=4k+1
q

1+ 1\"_
(1_ i) T leos(2k+ Do +isin(Qk+ D= -1, n=4k+2
cos(2k+—:2§-)rc+isin (2k+~-23-)1r= —i, n=4k+3

Hhh=0,+1,12,-
B5 &A1+,
W BT 1+i=\/_2_(cos —I—+isin -Z—),PJﬂ}l

. T T
— —4-+2k1r Vi 2k
A1+ i= ('»/2 Y4l cos -——1—— +isin-—-—4-—— ,

k=0’1’2,3.
MR B MEH
(1+ i)M4= (‘\‘/1+ i), = \V?(cos T 41 sin ~£),
16 16

A+D¥=(¥1+1), =¥ 2[cos 2T +isin ),
16 16

(1+i)i4= ('i’/ul—-i-—i_)z =~8/5_ cos 175 in 175 .
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